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public void testComparableEmployees_1 (
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CEmployeel alan = new CEmployeel ; >k
CEmployeel mark = new CEmployeel ; > == 0 Ay

CEmployeel _& = new CEmployeel
Calan.setSalary(4500.34);
mark.setSalary(3450.67);
om.setSalary(3450.67);
CEmployeel@es = {alan, m_ar—k, tom};

/+ When comparing employees,

*+ thelr salaries are 1rrelevant.

CEmployeel([] expected = ’ ; .
assertArrayEquals (expected ; 9 [ WA )G*/\
} o < a

MC Mav/C




¢ bt i

Tl @M/me g/m_ &a/(eyy

I
| class CEmployee2 implements Comparable <CEmployee2>
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@Override

public int compareTo (CEmplo ot S|
int salaryDiff =|Double compaze this) salary,
int idDiff = this.id - other N —=—

( if (salaryDiff !'= 0\) { retur alazylef
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other.salary);
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else { return idDiff; } } }
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é{/ @Test
7 public void testComparableEmployees_2() {
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CEmployee2 alan
CEmployee2 mark
CEmployee2 tom =

alan.setSalary
mark.setSalar

= new CEmployee2(2);

new CEmployeeZ2(3);
mployee2 (1) ;
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tom.setSalary(3450.6773

CEmployee2[] es = {alan, mark, tom};

| Arrays.sort (es);
CEmployee2[] expected = téigg, tom, mark};
assertArrayEquals (expected, es);
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| class ‘CEEloieéa :melements Comparable <CEmplo¥ee2>

)else if (this. salary@other salary) {

1

}

-->else { sal
f§>return this.ig - 8ther.id;

attr nstr

ibutes
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-.-..... ry > other salary)
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/* equal salaries */
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@Test ///\ wovk > tom
public void testComparableEmplzf?es_Z {

new CEmployeel (
new CEmployeel
Employeel

CEmployee2 alan
CEmployee2 mark
CEmployeeZ tom
alan.setSalar

mark, tom};

rrays.sort (es);
expected =
assertArrayEquals (expected, es);

tom, mark};
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